[ Efficiency vs vertpos |
0.1

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

1.0

.................................................

.................................................

..................................

...............................

oy

O R T

=
i 5 menk ARARE R ARS LA AL NN RAARE RARRN RRRRS LALEN LELL
T N 0
1 0 H
*
-
+
+
by
T
T
+

0.95 : : :
1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_init_orig
Efficiend —— pQm_TT__mkFit-DQM_init_modi

o O
o O
N
IIIIIIII
i
—
-
L
i
+

&

=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
0.05

YOI U SRR S e
Y] SO0 TR NN NP S e 1
B 0 A O
0 O
0,028 +++heveeeifevdsen b
S8 L

0.015F - fi--{]L

0.0
0.005

D
T T T LTI

._.
T




	Contents
	Page 1


